087/X/SA2/22/B1

Class - X
SOCIAL SCIENCE

Time : 3 hours Maximum Marks : 80
T : 3 T AfYehad 3 : 80

Total No. of Pages : 13

Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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Who among the following was associated with the Treaty of Vienna of 1815 ?

(a) Bismarck (b) Duke Metternich
() Louis Philippe (d) Victor Emmanuel II
OR
Who among the following formed the Revolutionary Society Duy Tan Hoi in Vietnam ?
(a) Phan Boi Chau (b) Huynh Phu So
(¢) Phan Chu Trinh (d) Liang Qichao

Which one of the following is true regarding the Treaty of Constantinople of 1832 ?
(a) It recognised Turkey as an independent nation
(b) It recognised Germany as an independent nation
(c) It recognised France as an independent nation.
(d) It recognised Greece as independent nation.
OR

Which one of the following is not a barrier to economic growth in Vietnam, as suggested
by Paul Bernard ?

(a) High population levels

(b) Low agricultural productivity

(c) Extensive indebtedness among peasants
(

d) Exploitation by the French

Who among the following were associated with ‘Swaraj Party’ formed during India’s
freedom struggle ?

(a) C.R. Das and Jawaharlal Nehru

(b) Motilal Nehru and C. R. Das

(c) Motilal Nehru and Subhash Chandra Bose
(d) Muhammad Ali and Shaukat Ali

Who among the following was the author of the famous book ‘Hind Swaraj’ ?
(a) Subhash Chandra Bose (b) Jawaharlal Nehru
(c) Shaukat Ali (d) Mahatma Gandhi

Which one of the following minerals is largely derived from “placer deposits’ ?

(a) Magnesium (b) Gold (¢) Iron ore (d) Bromine

In which state of India the Balaghat Copper Mines are situated ?
(@) Punjab (b) Kerala
(c) Madhya Pradesh (d) West Bengal
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10.

11.

12.

13.

14.

Which one of the following factors has once again opened the opportunity for jute
product ?

(@) Increasing concern for the use of biodegradable materials
(b) Increasing productivity

(¢) Inhancing the yield per hectare

(d) Improving quality

Which one of the following ports is an inland riverine port ?
(a) Kolkata (b)  Tuticorin (¢) Mumbai (d) Kandla

Which one of the following is true regarding public interest groups ?
(a) Betterment and well being of members of a particular group
(b)  Suppression of some general interest

(c) Representation of interest of one section of society

(d) Promotion of collective good

Which one of the following political parties came to power in Bolivia in 2006 ?
(a) The Socialist Party (b) The Republican Party
() The Conservative Party (d) The Communist Party

Which one of the following countries has multiparty system ?
(a) India (b) China
()  The United States of America (d) The United Kingdom

Which one of the following features is Not true regarding the definition of a democratic
government ?

(a) Rulers are elected by the people
(b)  Elected rulers take all the major decisions
(c)  Elections offer a choice to change the current rulers

(d) Government is not limited by basic rules of the constitution and citizen’s rights.

Which one of the following is NOT a formal source of credit ?
(a) Commercial Banks (b) State Bank of India
(c) Employers (d) Co-operatives

Which one of the following is true regarding the meaning of collateral ?
(a) Itis the total sum of money borrowed from banks.

(b) It is the amount of money borrowed from friends.

(c) Itis an asset of the borrower used as guarantee to a lender.

(

d) It is the total amount of money invested in a business.
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15. Which of the following is true regarding the number of member countries of World 1
Trade Organisation by the year 2006 ?

(@) 139 (b)y 149 (c) 159 (d) 169
16. Which of the following laws was enacted by the Government of India in the year 2005 ? 1
(a) The Rights to Information Act  (b) The Consumer Protection Act

() The Right to Education Act (d) The Right to Property Act

17. “The 1830s were the years of great economic hardship in Europe” Explain three points

in support of the statement. 3x1=3
OR

“Early Vietnamese nationalists had a close relationship with Japan and China. Support

your answer with three examples.” 3x1=3

18. What was the Rowlatt Act of 1919 ? Explain the reaction of the people against the
Rowlatt Act. 1+2=3

19. Explain any three types of formations in which minerals occur. 3x1=3

20. Describe any three factors that influence the location of textile industries in India.

3x1=3
21. Explain any three types of pollution caused by industries. 3x1=3
22. Mention three main features of pressure groups. 3x1=3

23. “In actual life, democracies do not appear to be very successful in reducing economic
inequalities.” Support this statement giving three arguments. 3x1=3

24. “Democracies produce an accountable, responsive and support the legitimate
government.” Support the statement with three suitable examples. 3x1=3

25. Explain three different types of challenges being faced by democratic governments in

modern times. 3x1=3
26. What is meant by trade barrier ? Why do governments use it ? Explain. 1+2=3
27. Describe the impact of globalization on Lives of Consumers. 3x1=3

28. Why rules and regulations are required for the protection of the consumers in the
marketplace ? Give three reasons. 3x1=3

29. Describe the limitations of the consumer redressal process in India. 3
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30. Explain the four main features of Liberal nationalism that developed in Europe in the
early nineteenth century. 4x1=4

OR

Explain the role of women as warriors in the Vietnamese war of 1960s. 4

31 Explain the role played by tribal peasants in the Gudem Hills of Andhra Pradesh during
the ‘Non-Co-operation Movement. 4x1=4

32. What is meant by international trade. State any three features of India’s international

trade. 1+3=4
33. Explain the four major challenges faced by political parties in the modern era. 4x1=4
34. Describe any four main functions of the Reserve Bank of India. 4x1=4

35. Two features A and B are marked in the given political outline map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the map.

(a) The place where Indian National Congress session was held in December 1920.
(b) The place from where ‘No tax campaign” was started. 2x1=2
OR

Locate and label the following items with appropriate symbols on the same political
outline map of India : 2x1=2

(i)  Amritsar - The place of Jallianwala Bagh incident
(i) Ahmedabad - The place from where Cotton Mill Workers satyagraha was started.
Note : The following questions are for the BLIND CANDIDATES only. In lieu of
Q. No. 35. Answer the following questions.

(1) Name the place where Indian National Congress Session was held in September,
1920. 2x1=2

(2) At which place peasant satyagraha was started ?

36. Three features (A), (B) and (C) are marked in the given political outline map of India.
Identify these features with the help of the following information and write their correct
names on the lines marked in the map. 3x1=3

(A) Oil Field

(B) Coal Mine

(C) Terminal station of North - South Corridor
OR
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Locate and label the following items on the same political outlines map of India with
appropriate symbols. 3x1=3

(i) Kandla - Sea port
(i) Noida - software technology park
(iii) Bhadravati - Iron and Steel Plant

Note : The following questions are for the BLIND CANDIDATES ONLY, in lieu of
Q. No. 36. 3x1=3

(1) Name the southern most terminal station of North - South Corridor.
(2) In which state of India Talcher Coal Mines are situated.
(3) Name the state in which Kandla Sea port is located.
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frefafed o = 1815 & foam w@fy 4 gwafeq € ? 1

(a) Towmmh (b) =& HfE
() T fwfem (d) foeRT e (1)
Srerar
Frefafea & = fooaam § ‘g a9 -’ T W SiMmEel o T8 ke
(a) T ST =TS (b) TEEFH
() wHAEF= (d) o fer=nen
frefafaa & @ ®iF 1832 1 FEgAgH & Heft & g d g § 2 1

(a) TETH (Th) hl Th @A T o €9 H J=a |
(b)
(c)
(d) I A I Tk Tdd UL & &9 H qr=em foam |

I STHAT ] Teh TS T o €9 H A= fm |
I8 TH %l Teh T&as U o &9 § A=l fa |

r9rer

et ST & AR fefafed | s foaaam & enfds gfg o w1 § 2 1
(a) = SHHEA &R (b) T w0 ScAEehar

(c) Torami & srafuss &0 g (d) TRIG % gRI TTOT

IR 1 T HUTH & SRA TTied ' TRt uret’ § fe=fafed § 9 wF gwfa § 2 1

(a) . AR T TIH ORIl 788 (b) Wl H8% TaH Hl. 3R q™
(c) TS Hee Ty guives 9 (d) HewE SIel TaH Yihd STel

Frefafed § & 9fHg 7w o ©/s & o@® § ? 1
(a) GIEEE ™ (b)) ORI g€ (c)  Wiehd 3Tt (d) T MiE
Frefafea & sF @ wfe sifusat e fda’ | fHepmen s € 2 1
(a) FfEm (b) & () dIR T (d) S

IRA &% Torg o9 § Srere dien %1 @ Tafeerd € 2 1
(a) TS (b) HIA (c) U U (d) afe=m s
frefafed 9 =8 7@ S 3acT & faT I4: TE IR oo 3o fhan § 2 1
(a) 19 AUEEH Tl B dGdl SR (b) TG Icaraehdl

(c) T THIN IAGH | Jfg (d) ToTer § guR
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8. Tr=fafaa # s sresia 6 T § ?
(a)  RICThT (b)  TelrehIA (c) T (d) higan

9. frfafed # & o= & feda T F Il A T ® ?
(a) WY TR & GeHl o 9 ao fgd &l agen <

(b) T WM fedl § TR

(c) HHE % Tk o o1 gfaffae

(d) Emfesh fedt st sgren

10. frafafed 9 w1 TsHifaw g1 2006 # sifafon § @@ § o€ 2
(a) WRIfEe (FHTSERET) e (b) Tafserer it
(c) whorafes uref (d) FHFE et

11. fr=fafed & fra S & sgeela sTagen &2
(a) o (b) =
(c) HIH T4 TR (d) TS fEen

12. fr=fafed § SF T crewarf=rm ThR &t afms & g<d § 9@ 72 § 2
(a) TES STk GRI 97 9 & |

(b) T T IMHF Gt HEwerqui fof o €

(c) T IdHM TR hl IREfdd F i A <t T

() wR Higue & ga el qer A sfusri % grn fifa 72 & 7

13. fr=Afafed § & %o &1 sl S 72 7 2
(a) AR dF (b) Wz dF 3w gfean
(c) e (d) ekt

14. GHYF FOMER &1 FrAfafed § w0 a9 o1 &2
(a) T % T o T SR 1 Fa A )
(b) % Il © foran T SER 7
(c) e UHl Hufd ¥ 1 SURem 1 RS <3 3 &9 § SW9Te a1 S & |
(d) e foredt =R # fraft ot g9 1

15. Tr=fafad § =M fava SR G767 o 2006 % TS <91 i &1 & TRy | 99§
(a) 139 (b) 149 (©) 159 d) 169
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16. Trafafad § ®F-9 $MFA YRA THR g a8 2005 | @R fowman w2 1
(a) I 1 SAfYHR Tt (b) SuvreRT ERaor st
(c) Toan =1 sifyer sAfufram (d) gwfa w1 eAfuer stfufrm

17. 1830 o1 <91 AT o fau faemer snfeier swfcreai o1 ad o | e o 99 o 4 forgati =it

SRS FIRAT | 3x1=3
3rear
Ry o ToRraaTeT Teeanfedl w1 =i q ST 1 fehe e of | i 3SR % gRI HeH
F 7 FRT | 3x1=3
18. 1919 T ice W R A1 ? UcTE T o Ffd AN ohi Ffdfhdl hi AR hiaT | 1+2=3
19. @ YR o @i fmfor gon 59 3 § wfe 9w S € S'et sme Sy | 3x1=3
20. YRG H g% 3TN & rafefd sl guIferd shiqdrel e ekl a1 90 Shifaig | 3x1=3
21. TR T YR % 3iENfiTes Ygwor st SAren Hifag | 3x1=3
22, ToE HHE % Tkl I foraroansti =6t = iy | 3x1=3
23. ‘‘Arhd= arfeeh Siied H anfefeh STIHMdT Rl HH A | hIh 9%l Tl Ydid 2 g |7 @
T % GR FeA F1 T FITT | 3x1=3
24, ‘'VihaA T SWEE!, AR qO 9y, IEE YeM Hael SR odt § 11 39 Suge _
IR F gRT FUA H gHAT T | 3x1=3
25. Wﬁ%wmaﬁﬁwﬁmmaﬁaﬁ?ﬁﬂﬁfwﬁﬁﬁaﬂmaﬁmg 1es
x —
26. AR e k1 P 372 € 2 IR SHR YA B hid] € 2 S ity | 3x1=3
27. AfvaeRTor s U W IS 9Tl YTel 1 guiF Sife | 3x1=3

28. IS I HRY FAEY foh, TSR H IR o TR0 g o0 oy & &0 a2 3x1=3

29. WRd H JuMen &ifqqfd fremor ufshan 6t et w6 vl i | 3
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30. Y H AT Tt ok AR H Toenfad ISRATG T WieHT ot =R J&A forRmarsti i =amen

: | 4x1=4
sterar
1960 % T¥1k o o™ g5 § Algl o €9 H Afeensti ol Yl i e HIfT | 4
31. STEEIN A< & Y 3 YW & Y7 YRSl & sl fordmi ot qfHert shi =ame
P 4x1=4
32. STUS SATIR o1 1 27 § 7 YRA o SRS AR o 1 fowoaretl s =amen sifay |
1+3=4
33. Siifdek gall gR1 a9 B 9T foRy s R fohedl ar gtfael st samen s | 4x1=4
34. YA & 9 Sk & IR ! 1 90 HifST | 4x1=4

35. YRd & fqU T Temfdes Y et ) < fawvard (A) iR (B) fafea €, =7 fasamsti 6t fr=1
AT ! HEE § TSI a1 IHeh Wl AW ot T W faraw | 2x1=2

(A) T ST femrer, 1920 § YR TS i o1 Afeeye SEifsa gan o |
(B) T 581 § o & ol TER (1 T hFIA) IR foRa 7 o |

areram
IRA o SHT TSHfdeh T@ A T 39ga o=l o g1 qenist a1 fafed wifse |
(i)  STYTER - TIM W&l ST N SeTshTve g ol |

2x1=2

(i) STEHTIENE - T el Hiel TeIgdl i HemIg URE gal |
e : frfafaa gem Faa gfiefer afanfi=i & fow g9 swaiE 35 & WM W | 991 & W
T |

(1) 9 TIM I 19 IqET STl fqamR 1920 B R Wi i w1 Tferer gam o |
(2) Torum 1 FEwE fRd T o grRey gem ? 2x1=2

36. YIRG % TsHITaeh 1@ AAfIA R T4 foRivarg (A) (B) (C) R fafea =t T ¥ | a0 &
SR i TRdl ¥ 37 fosioaed &t qgam it oik aHfas § fafzd waEei w 76w
™ fafEm | 3x1=3
(A) o &
(B) whiFe @H
(C) I faqur TIferam <1 Sfeqords e
Sr9rEr
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IR o 3T Teifaeh 1@ TrFfes W 1 i 3uge fal & Areay 9§ guiize aen fafwa s |

A 3x1=3
(i) ST AR SIS aTeh
(iff)  ETeT el T SEI s
e : Frafafeaa we Fea gfefen wWanfo & fau uv #mid 36 & Wi WE IS| 3x1=3
il

(1) 9Rd % A0 - S0 T o SForH o 1 T sy |
(2) TR HE WH fhg 759§ syafted § 2
(3) U oA 1 I AT &l il T T Tafeed § ?
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Question No. 35
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Question No. 36
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